I'aYe

emeile

oswd opwd

100

wluiels

312 311
g pm90 pm90 pm90 pmd0
NN N == ® |

o Q| o
8 88 /8
pm90 pm90 pm90
o ‘O
< = =
~ |~ RS 2l oS

08l
08

08l
00l

b L |
—H= —= —= —H= —H= —= —= —H= —H= —= :
e N T = o R o B S = o B = S R T = = i
b= = B = e e e e e e :
= = B = =S S = S = = R = e =5 : 303
L= e el e el el e el e :
|
=l = = R = e = e e e = e = :
e =R :— R = R A = T == N = — N I S — W S = R = B :
301 = = le e e e e e e e 80
o =R :— R A == == = — R I — N S — R . = B 70
mar i e et et B e R e = =
O = I = I = B = B R . e e (= = I =N I 1= =S
M= e e e e e e e e
=l = = R = = I s = e R = I = = =2
e T 1= R R e T e = A 1= B 1= R 1= R =
e e e e e e e e e 306
%f = —i= = —E= —i= = = —i= —=
O =R R = a — I =:=N I S = W S = R . S M
UL L L LA L L L L L 1007
I 210
—_— ]
T
o
e 3
Lo o o T T T T T T - e
I alaprajz m D U

K
i
X
N

XYY XXX XTI XXX X

w; 2
%
KA
X
%

0
0

A
A
X
é‘
/b
%
7

SIS

+5,61
15

RIRIIRK

%»

BIRRISRIX

180
240

+7,48

318

301
302
303
304
305
306
307
308
309
310
311

312
313
314
315
316
317
318
319

vetitéterem
vetitéterem
vetitdé géphaz
raktar

vetitdé géphaz
raktar
titkarsag
kozlekedd
teakonyha
iroda

iroda

iroda

targyald

wC
kozlekedd
kozlekedd
kavézo

uzlet

uzlet

142,2 m?
99,8 m?
18,2 m?
6,2 m?
5m?

9,2 m?
20 m?
23 m?
9,9 m?
9,4 m?
12 m?
12,6 m?
19,2 m?
4,1 m?
104,2 m?
51 m?
16,4 m?
14,1 m?
9,4 m?




